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FH SREE ZEREL BB REEX

LR 2 1 1 1.0
HZAsh % h 9 7 6 1.2
HAS Z# 10 8 8 1.0
A REAER} 11 9 8 1.1
FRER D EBZ R 13 11 11 1.0
BERiER 8 8 7 1.1

A 53 44 41 —

BAERRR (AORIHA)

FR TREEH TEREH BIRE EEEX
L F R 0 — - —
B2 F R} 7 7 7 1.0
BAXZ#H 3 3 2 1.5

HAXFH (F8) 3 3 3 1.0
A REALFER} 4 4 4 1.0
FRAR D EBF R 5 5 5 1.0
BERAFR 11 10 9 1.1

Y 33 32 30 =
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FR TREE TERE BIEE EEEX
1L F R 0 — - —
SENCcS 6 4 3 1.3
HAS F R 2 2 2 1.0

HAXZHR (F8) 0 — - —
REALFER 1 1 1 1.0
FRAR D EF R 3 2 2 1.0
BEREIEFR 3 3 3 1.0

A5 15 12 11 =




